BULLETIN OF STOMATOLOGY AND MAXILLOFACIAL SURGERY Volume 21, Issue 9

DOI: 10.58240/1829006X-2025.21.9-5



THE EFFECT OF CHIN POSITION ON FACIAL PROFILE ATTRACTIVENESS AND HARMONY IN AMONG ORTHODONTISTS, DENTISTS AND LAYPEOPLE: AN OBSERVATIONAL STUDY

Naela Mohamed Al-Mogahed¹*, Ahmad Mostafa Kahoul², Maram Abdullah Taleb³

¹Associate Professor of Orthodontic Department of Orthodontics, Faculty of Dentistry, Sana'a University, Sana'a

*Corresponding author: Naela Mohamed Al-Mogahed Associate Professor Department of Orthodontics, Faculty of Dentistry, Sana'a University, Sana'a, Republic of Yemen. almogahed2000@yahoo.com

Received: Jul 7. 2025; Accepted: Aug 28, 2025; Published: Sep 20, 2025

ABSTRACT

Background: One of the most important goals of orthodontic and orthognathic surgery treatment on the profile region is to improve facial aesthetics. Because orthodontics primarily affects the face, we focus on the chin. The aim of this study was to evaluate the effects of chin position on facial profile attractiveness and harmony among laypeople, dentists and orthodontists.

Material and methods: A digital portrait of adult woman was generated by artificial intelligence (AI) for the study. The image was digitally altered using Adobe Photoshop to create 7 images, and presented to 40 orthodontists, 40 dentists, and 40 laypeople for evaluation of their perception of facial profile attractiveness on a visual value rating scale.

Results: The study results showed that in images 1 through 7, where the chin moved in the sagittal plane, statistically significant differences were found between the study groups, with the exception of images 1, 5, and 6 in question 1, and images 3, 4, and 5 in question 2, and images 1, 3, 4, 5, and 7 in question 3.

Conclusions: Laypeople, dentists and orthodontists rated the retrusive chin as more attractive than the protrusive of the chin

Keywords: Aesthetics; Perception; Chin protrusive, Chin retrusive.

INTRODUCTION

The diagnosis and treatment plan for orthodontics depend on the arrangement and coordination of the soft tissue complex between the various components of the craniofacial complex to improve attractiveness 1,2. Aesthetics is an important factor in implementing a treatment plan. Therefore, it is very important for orthodontists to know and visualize the expected treatment outcomes for facial attractiveness, which is the goal of the patient at the end of orthodontic treatment ^{3,4}. There is a literature review of several orthodontic studies that emphasize the need to establish attractiveness criteria ^{5,6}. but this principle does not apply to everyone, due to differences in facial pattern, race, gender, and age. The sagittal prominence of the mandible, when viewed from the side profile, is also important in attractiveness, and the average value of the parameter varies according to age, gender, and race 7,9 .

Using traditional techniques for measuring facial morphology and its relationship to soft tissues, such as

photographs, silhouettes, and line drawings, gender differences were primarily related to the size and timing of growth. There are few studies in the literature that evaluate overall facial shape in terms of age-related changes and sexual dimorphism. This may be due to inconsistent results due to methodological differences ¹⁰, ¹¹. To address these difficulties, newer techniques, such as digital photography, have been developed to provide a more practical understanding of facial aesthetics compared to older methods, as changes in profile are related to soft tissue features. However, the main drawback of this method is the potential for inaccurate predictions, given the heterogeneity of orthodontic patients, due to their diverse genetic and ethnic backgrounds, and therefore attempts to limit them to a homogeneous template. 12

Therefore, the goal should be acceptable and reasonable results according to common criteria for evaluating patients through orthodontics' interpretation of aesthetic harmony only. This necessitates investigation into the

²Researcher in Orthodontic Dentistry, master's Student Orthodontic Department of Orthodontics, Faculty of Dentistry, Sana'a University, Sana'a ahmad.kahoul@gmail.com

³Researcher in Pediatric Dentistry, master's Student Sana'a University, Sana'a ahmad.kahoul@gmail.com talebmaram97@gmail.com

perception of the laypeople and professionals regarding facial attractiveness and beauty in their daily lives. A few researchers have reported general agreement between orthodontists and laypeople, while others point to differences in the perception of specialists and the laypeople regarding facial aesthetics. Controversy still exists in literatures regarding whether the laypeople and professionals agree in their perceptions of facial attractiveness. ¹³⁻¹⁵

Attractiveness plays a significant role in an individual's life. It can lead to influence that accumulates over time, leading to social benefits, including increased self-confidence. In contrast, unattractive individuals may lose influence over time, leading to social deprivation. ¹⁶ For these reasons, beauty is a major motivational factor behind seeking facial cosmetic surgery, dental treatments, and/or orthodontics. ¹⁷ Therefore, it is important to link patient preferences and needs with aesthetic attributes as perceived by the laypeople and dental practitioners.

Several studies have assessed the general public's and/or dental practitioners' perceptions of specific facial characteristics, including profile, ¹⁸vertical facial proportions, ^{19,20}, and facial symmetry ^{21,22}. In line with this, a recent systematic review²³ sought to summarize studies that evaluated the general public's and/or dental practitioners' perceptions of various facial aesthetic criteria. They searched for articles that evaluated facial beauty criteria, including facial shape, height, and symmetry. To date, no study has been conducted collectively assessing the perception of the most important facial features (facial symmetry, dental symmetry, and vertical proportions) by the laypeople and various dentists. Therefore, the objective of this study was to evaluate the effects of chin position on facial profile attractiveness and harmony among laypeople, dentists and orthodontists.

MATERIAL AND METHODS

This study was conducted by the Department of Orthodontics, Faculty of Dentistry, Sana'a University. The sample size was 120 participants after obtaining informed consent from each participant in the questionnaire according to Helsinki's rules, which divided them into three equal groups. The first group included 40 laypeople, the second group included 40 dentists, and the third group included 40. orthodontists Photographs were used on A4 glossy paper. To determine attractiveness, an ideal facial portrait (Figure 1) was created using AI, and edited by Adobe Photoshop CS3 (Adobe Systems Inc.), which was subsequently modified to create seven images with different chin positions. The chin position ranged from (-3mm to +3mm). The ideal facial profile was modified to shift the mandibular prominence by 1, 2, and 3 mm, retracting and protruding. Each image was randomly assigned a number to reduce bias. Each photograph was printed on A4-sized glossy paper and presented to participants in random order. Each participant was given a questionnaire to rate each photograph within 30 seconds for each, from most attractive to least attractive, on a scale of (1 to 5), symmetry or harmony (1 to 3), and chin position

Questionnaires for each image, participants answered.

Statistical Analyses:

The three groups were compared in terms of mean chin position, attractiveness score and facial harmony.

Data of rankings by the 120 evaluators for the 7 altered images of the female subject was recorded as per the protocol of the study. The data collected in the process were scrutinized, coded and entered into IBM SPSS Statistics 27, SPSS analyzed.















Figer 1. Ideal facial portrait was created using AI and Adobe Photoshop CS3 (Adobe Systems Inc.), seven images with different chin positions.

RESULTS

The results of the one-way ANOVA revealed a statistically significant difference between the groups in some of the measured variables (P<0.05). This indicates that group membership had a significant effect on participants' responses. (Table:1,3&5)

To further explore these differences, a post hoc analysis using the Tukey HSD test was conducted. The analysis showed that there were statistically significant mean differences between specific pairs of groups in several questions. For instance, in Q1 a significant difference was found image (4) between Dentist and Orthodontic also between Laypeople and Dentist, with dentist and laypeople reporting higher mean scores (Mean difference= .025, P<0.05). Table: 2,4&6) However, no significant differences were found between other group comparisons in the remaining questions (P>0.05), suggesting that the observed differences were limited to specific areas.

Table 1. Q1 in 7 images. (ANOVA)

	Sum of Squares df Mean Square F Sig.								
				Mean Square		Sig.			
Image 1	Between Groups	1.017	2	.508	.795	.454			
Q1	Within Groups	74.775	117	.639					
	Total	75.792	119						
Image 2	Between Groups	4.017	2	2.008	5.468	.005			
Q1	Within Groups	42.975	117	.367					
	Total	46.992	119						
Image 3	Between Groups	6.350	2	3.175	6.299	.003			
Q1	Within Groups	58.975	117	.504					
	Total	65.325	119						
Image 4	Between Groups	5.400	2	2.700	5.651	.005			
Q1	Within Groups	55.900	117	.478					
	Total	61.300	119						
Image 5	Between Groups	3.217	2	1.608	2.179	.118			
Q1	Within Groups	86.375	117	.738					
	Total	89.592	119						
Image 6	Between Groups	1.517	2	.758	1.793	.171			
Q1	Within Groups	49.475	117	.423					
	Total	50.992	119						
Image 7	Between Groups	6.017	2	3.008	11.016	.000			
Q1	Within Groups	31.950	117	.273					
	Total	37.967	119						

Table 2. (Tukey HSD test)

Multiple Comparisons

Depe	endent Variable			Mean Difference	Std. Error	Sig.	95% Confidence Lower Bound	Upper Bound
Q1	1 Tukey HSD		Dentist	.125	.179	.764	30	.55
_	Image 1		Orthodontic	100	.179	.842	52	.32
		2	Laypeople	125	.179	.764	55	.30
			Orthodontic	225	.179	.421	65	.20
		3	Laypeople	.100	.179	.842	32	.52
			Dentist	.225	.179	.421	20	.65
21	Tukey HSD	1	Dentist	.025	.136	.981	30	.35
	Image 2		Orthodontic	375 [*]	.136	.018	70	05
	, and the second	2	Laypeople	025	.136	.981	35	.30
			Orthodontic	400 [*]	.136	.011	72	08
		3	Laypeople	.375*	.136	.018	.05	.70
21	Tukey HSD	1	Dentist	475*	.159	.009	85	10
	Image 3		Orthodontic	500 [*]	.159	.006	88	12
	C	2	Laypeople	.475*	.159	.009	.10	.85
			Orthodontic	025	.159	.986	40	.35
		3	Laypeople	.500*	.159	.006	.12	.88
			Dentist	.025	.159	.986	35	.40
21	Tukey HSD	1	Dentist	450 [*]	.155	.012	82	08
1	Image 4		Orthodontic	.000	.155	1.000	37	.37
		2	Laypeople	.450*	.155	.012	.08	.82
			Orthodontic	.450*	.155	.012	.08	.82
		3	Laypeople	.000	.155	1.000	37	.37
			Dentist	450 [*]	.155	.012	82	08
21	Tukey HSD	1	Dentist	.175	.192	.635	28	.63
	Image 5		Orthodontic	.400	.192	.098	06	.86
		2	Laypeople	175	.192	.635	63	.28
			Orthodontic	.225	.192	.473	23	.68
		3	Laypeople	400	.192	.098	86	.06
			Dentist	225	.192	.473	68	.23
1	Tukey HSD	1	Dentist	.250	.145	.202	10	.60
-	Image 6		Orthodontic	.025	.145	.984	32	.37
	-	2	Laypeople	250	.145	.202	60	.10
			Orthodontic	225	.145	.273	57	.12
		3	Laypeople	025	.145	.984	37	.32
			Dentist	.225	.145	.273	12	.57
1	Tukey HSD	1	Dentist	.475*	.117	.000	.20	.75
	Image 7		Orthodontic	.475*	.117	.000	.20	.75
	•	2	Laypeople	475*	.117	.000	75	20
			Orthodontic	.000	.117	1.000	28	.28
		3	Laypeople	475*	.117	.000	75	20

^{*.} The mean difference is significant at the 0.05 level.

Table 3. Q2 in 7 images. (ANOVA)

	•	Sum of Squares	df	Mean Square	F	Sig.
Q2	Between Groups	34.067	2	17.033	17.251	.000
1	Within Groups	115.525	117	.987		
	Total	149.592	119			
Q2	Between Groups	12.917	2	6.458	5.566	.005
2	Within Groups	135.750	117	1.160		
	Total	148.667	119			
Q2	Between Groups	10.617	2	5.308	5.408	.006
3	Within Groups	114.850	117	.982		
	Total	125.467	119			
Q2	Between Groups	4.550	2	2.275	1.743	.180
4	Within Groups	152.750	117	1.306		
	Total	157.300	119			
Q2	Between Groups	3.267	2	1.633	1.578	.211
5	Within Groups	121.100	117	1.035		
	Total	124.367	119			
Q2	Between Groups	10.617	2	5.308	3.659	.029
6	Within Groups	169.750	117	1.451		
	Total	180.367	119			
Q2	Between Groups	20.417	2	10.208	7.044	.001
7	Within Groups	169.550	117	1.449		
	Total	189.967	119			

Table 4. Tukey HSD test

Multiple Comparisons

112020	ipic Comparis	0110		Mean			95% Confidence	e Interval
Depe	ndent Variable			Difference	Std. Error	Sig.	Lower Bound	Upper Bound
Q2	Tukey HSD	1	Dentist	-1.250 [*]	.222	.000	-1.78	72
	1		Orthodontic	950 [*]	.222	.000	-1.48	42
		2	Laypeople	1.250*	.222	.000	.72	1.78
			Orthodontic	.300	.222	.371	23	.83
		3	Laypeople	.950*	.222	.000	.42	1.48
			Dentist	300	.222	.371	83	.23
Q2	Tukey HSD	1	Dentist	625*	.241	.029	-1.20	05
	2		Orthodontic	750 [*]	.241	.007	-1.32	18
		2	Laypeople	.625*	.241	.029	.05	1.20
			Orthodontic	125	.241	.862	70	.45
		3	Laypeople	.750*	.241	.007	.18	1.32
			Dentist	.125	.241	.862	45	.70
Q2	Tukey HSD	1	Dentist	175	.222	.710	70	.35
	3		Orthodontic	700 [*]	.222	.006	-1.23	17
		2	Laypeople	.175	.222	.710	35	.70
			Orthodontic	525	.222	.051	-1.05	.00
		3	Laypeople	.700*	.222	.006	.17	1.23
			Dentist	.525	.222	.051	.00	1.05
Q2	Tukey HSD	1	Dentist	200	.255	.714	81	.41
	4		Orthodontic	475	.255	.155	-1.08	.13
		2	Laypeople	.200	.255	.714	41	.81
			Orthodontic	275	.255	.531	88	.33

3	Laypeople	.475	.255	.155	13	1.08
	Dentist	.275	.255	.531	33	.88
D 1	Dentist	.000	.227	1.000	54	.54
	Orthodontic	.350	.227	.277	19	.89
2	Laypeople	.000	.227	1.000	54	.54
	Orthodontic	.350	.227	.277	19	.89
3	Laypeople	350	.227	.277	89	.19
	Dentist	350	.227	.277	89	.19
D 1	Dentist	.175	.269	.793	46	.81
	Orthodontic	.700*	.269	.028	.06	1.34
2	Laypeople	175	.269	.793	81	.46
	Orthodontic	.525	.269	.130	11	1.16
3	Laypeople	700 [*]	.269	.028	-1.34	06
	Dentist	525	.269	.130	-1.16	.11
D 1	Dentist	.875*	.269	.004	.24	1.51
	Orthodontic	.875*	.269	.004	.24	1.51
2	Laypeople	875 [*]	.269	.004	-1.51	24
	Orthodontic	.000	.269	1.000	64	.64
3	Laypeople	875 [*]	.269	.004	-1.51	24
	Dentist	.000	.269	1.000	64	.64
	D 1 2 3 D 1 2 D 1 2 D 1 2 D 1 2 D 1 D 1 2 D 1 D 1	Dentist Dentist Dentist Orthodontic Laypeople Orthodontic Laypeople Dentist Dentist Orthodontic Laypeople Orthodontic Laypeople Orthodontic Laypeople Orthodontic Laypeople Dentist Dentist Orthodontic Laypeople Dentist Orthodontic Laypeople Orthodontic Laypeople Orthodontic Laypeople Orthodontic Laypeople Orthodontic Laypeople	Dentist .275	Dentist .275 .255 Dentist .000 .227 Orthodontic .350 .227 2	Dentist .275 .255 .531 Dentist .000 .227 1.000 Orthodontic .350 .227 .277 2	Dentist .275 .255 .531 33

^{*.} The mean difference is significant at the 0.05 level.

Table 5. Q3 in 7 Images. (ANOVA)

		Sum of Squares	Df	Mean Square	F	Sig.
Q3	Between Groups	2.117	2	1.058	1.129	.327
1	Within Groups	109.675	117	.937		
	Total	111.792	119			
Q3	Between Groups	8.117	2	4.058	3.754	.026
2	Within Groups	126.475	117	1.081		
	Total	134.592	119			
Q3	Between Groups	4.017	2	2.008	1.770	.175
3	Within Groups	132.775	117	1.135		
	Total	136.792	119			
Q3	Between Groups	.117	2	.058	.106	.899
4	Within Groups	64.250	117	.549		
	Total	64.367	119			
Q3	Between Groups	25.350	2	12.675	1.712	.185
5	Within Groups	866.350	117	7.405		
	Total	891.700	119			
Q3	Between Groups	2.317	2	1.158	3.462	.035
6	Within Groups	39.150	117	.335		
	Total	41.467	119			
Q3	Between Groups	.350	2	.175	.710	.494
7	Within Groups	28.850	117	.247		
	Total	29.200	119			

Table 6. Tukey HSD test Multiple Comparisons

Number Comparisons			Mean			95% Confidence		
_	endent Variable			Difference	Std. Error	Sig.		Upper Bound
Q3	· .	1	Dentist	.150	.216	.768	36	.66
	1		Orthodontic	.325	.216	.294	19	.84
		2	Laypeople	150	.216	.768	66	.36
			Orthodontic	.175	.216	.699	34	.69
		3	Laypeople	325	.216	.294	84	.19
			Dentist	175	.216	.699	69	.34
Q3	Tukey HSD	1	Dentist	525	.232	.066	-1.08	.03
	2		Orthodontic	.050	.232	.975	50	.60
		2	Laypeople	.525	.232	.066	03	1.08
			Orthodontic	.575*	.232	.039	.02	1.13
		3	Laypeople	050	.232	.975	60	.50
			Dentist	575*	.232	.039	-1.13	02
Q3	Tukey HSD	1	Dentist	400	.238	.217	97	.17
	3		Orthodontic	025	.238	.994	59	.54
		2	Laypeople	.400	.238	.217	17	.97
			Orthodontic	.375	.238	.261	19	.94
		3	Laypeople	.025	.238	.994	54	.59
			Dentist	375	.238	.261	94	.19
Q3	Tukey HSD	1	Dentist	050	.166	.951	44	.34
	4		Orthodontic	075	.166	.893	47	.32
		2	Laypeople	.050	.166	.951	34	.44
			Orthodontic	025	.166	.988	42	.37
		3	Laypeople	.075	.166	.893	32	.47
			Dentist	.025	.166	.988	37	.42
Q3	Tukey HSD	1	Dentist	975	.608	.249	-2.42	.47
	5		Orthodontic	.000	.608	1.000	-1.44	1.44
		2	Laypeople	.975	.608	.249	47	2.42
			Orthodontic	.975	.608	.249	47	2.42
		3	Laypeople	.000	.608	1.000	-1.44	1.44
			Dentist	975	.608	.249	-2.42	.47
Q3	Tukey HSD	1	Dentist	075	.129	.831	38	.23
	6		Orthodontic	.250	.129	.134	06	.56
		2	Laypeople	.075	.129	.831	23	.38
			Orthodontic	.325*	.129	.035	.02	.63
		3	Laypeople	250	.129	.134	56	.06
			Dentist	325*	.129	.035	63	02
Q3	Tukey HSD	1	Dentist	025	.111	.972	29	.24
	7		Orthodontic	.100	.111	.641	16	.36
		2	Laypeople	.025	.111	.972	24	.29
			Orthodontic	.125	.111	.500	14	.39
		3	Laypeople	100	.111	.641	36	.16
			Dentist	125	.111	.500	39	.14
			-					

^{*.} The mean difference is significant at the 0.05 level.

DISCUSSION.

Aesthetic harmony and attractiveness are highly subjective and contentious issues, as what appeals to a specialist based on their experience and training may not be what the laypeople believe. Therefore, this discrepancy in opinion can lead to dissatisfaction among the laypeople, dentists, and orthodontists with treatment outcomes. Therefore, orthodontists and patients must agree on a plan to address patients' facial aesthetic concerns, facilitating the process of consensus. Our study aimed to determine the position of the chin and its attractiveness and symmetry among the laypeople, dentists, and orthodontists. In our study, there was a discrepancy in opinions regarding chin retraction, attractiveness and harmony between dentists and orthodontists, as well as between the laypeople and orthodontists. This is consistent with Mahmoudzadeh et al. comparison of preferences between the laypeople and orthodontists in Iranian society. They found that a straight appearance was more attractive to orthodontists, while patients rated a receding lower jaw as more attractive. Meanwhile, Jordanians preferred an orthodontic appearance for both males and females ²⁵. In the UAE and Saudi Arabia, both orthodontists and laypeople rated the straight profile as the most attractive, while Saudis rated the receding profile as the least acceptable ^{26,27}. Similarly, Brazilians preferred the straight profile, and the Class III profile was the least attractive among laypeople ²⁸. A study was conducted to determine visual interest in profiles among the Chinese population and found that the degree of mandibular prominence attracted the greatest attention to the lower face ²⁹. Education level should also be considered; a study by Falkensammer et al. concluded that orthodontists were more sensitive to profiles than laypeople and oral and maxillofacial surgeons ³⁰. Like other facial features, it is generally accepted that chin prominence has a range of natural variations. It is not simply an individual preference but also depends on the gender, age, ethnicity, and educational background (orthodontists vs. the laypeople) of the judges. A review of the literature reveals several reported methods for assessing chin prominence ³¹. However, Arroyo et al. concluded that neither method can be considered ideal ³¹. Therefore, the most accurate assessment may depend on the surgeon's experience, clinical capabilities, and patient desires. Nini et al. also analyzed a potentially effective method for assessing the extent of chin augmentation or retraction required ³². The limitation of this study was a small sample size. Therefore, we suggest conducting another multi-centric study with larger groups size.

CONCLUSION

Laypeople, dentists and orthodontists feel that retrusive chin as more attractive than the protrusive of the chin.

DECLARATIONS

Funding

This research did not receive any specific grant or financial support from funding agencies in the public, commercial, or not-for-profit sectors.

Competing Interests

The authors have no competing interests to declare.

Ethical Approval

The study was approved by the appropriate ethics committee and conducted according to relevant guidelines and regulations.

Informed Consent

Not applicable.

REFERENCES

- 1. Taki AA, Oguz F, Abuhijleh E. Facial soft tissue values in Persian adults with normal occlusion and wellbalanced faces. Angle Orthod. 2009;79(3):491–5.
- 2. Nomura M, Motegi E, Hatch JP, Gakunga PT, Rugh JD, Yamaguchi H. Esthetic preferences of European American, Hispanic American, Japanese, and African judges for soft-tissue profiles. Am J Orthod Dentofac Orthop. 2009;135(4):87–95.
- 3. Prahl-Andersen B, Boersma H, Van Der Linden F, Moore AW. Perceptions of dentofacial morphology by laypersons, general dentists, and orthodontists. J Am Dent Assoc. 1979;98(2):209–21.
- 4. Cochrane SM, Cunningham SJ, Hunt N. A comparison of the perception of facial profi le by the general public and 3 groups of clinicians. Int J Adult Orthod Orthognathic Surg. 1999;14(4):291–5.
- 5. Adams GR. The Effects of Physical Attractiveness on the Socialization Process. Psychological Aspects of Facial Form. Ann Arbor, Mich: Center for Human Growth and Development; 1980. p. 25–47.
- 6. Matoula S, Pancherz H. Skeletofacial morphology of attractive and nonattractive faces. Angle Orthod. 2006;76(2):204–14.
- 7. Lundstro A, Popovich F, Woodside DG. Panel assessments of the facial frontal view as related to mandibular growth direction. Eur J Orthod. 1989;11(3):290–7.
- 8. Naini FB, Donaldson F, Mcdonald F, Cobourne MT. Assessing the influence of chin prominence on perceived attractiveness in the orthognathic patient, clinician and layperson. Int J Oral Maxillofac Surg. 2012;41(7):839–85.
- 9. Gibson FB, Calhoun KH. Chin position in profile analysis. Comparison of techniques and introduction of the lower facial triangle. Arch Otolaryngol Head Neck Surg. 1992;118(3):273–9.
- 10. Zhu S, Yang Y, Khambay B. A study to evaluate the reliability of using twodimensional photographs, three-

- dimensional images, and stereoscopic projected three-dimensional images for patient assessment. Int J Oral Maxillofac Surg. 2017;46(3):394–400.
- 11. Barrer JG, Ghafari J. Silhouette profiles in the assessment of facial esthetics: a comparison of cases treated with various orthodontic appliances. Am J Orthod. 1985;87(5):385–91.
- 12. Foos PW, Clark MC. Adult age and gender differences in perceptions of facial attractiveness: beauty is in the eye of the older beholder. J Genet Psychol. 2011;172(2):162–75.
- 13. Cochrane S, Cunningham S, Hunt N. Perceptions of facial appearance by orthodontists and the general public. J Clin Orthod. 1997;31(3):164–72.
- 14. Knight H, Keith O. Ranking facial attractiveness. Eur J Orthod. 2005;27(4):340–8.
- 15. Giddon DB. Orthodontic applications of psychological and perceptual studies of facial esthetics. Semin. 1995;1(2):82-93.
- 16 . Anderson C, John OP, Keltner D, et al. Who attains social status? Effects of personality and physical attractiveness in social groups. J Pers Soc Psychol 2001;81:116-132.
- 17 . Flores-Mir C, Silva E, Barriga MI, et al. Lay person's perception of smile aesthetics in dental and facial views. J Orthod 2004;31:204-209; discussion 201.
- 18 . Yin L, Jiang M, Chen W, et al. Differences in facial profile and dental esthetic perceptions between young adults and orthodontists. Am J Orthod Dentofacial Orthop 2014;145: 750-756.
- 19 . Soni J, Shyagali T, Kulkarni N, et al. Evaluation of influence of altered lower vertical proportions in the perception of facial attractiveness. Int J Orthod Rehabil 2016;7:124.
- 20 . Ioi H, Yasutomi H, Nakata S, et al. Effect of lower facial vertical proportion on facial attractiveness in Japanese. Orthod Waves 2006;65:161-165.
- 21 . Silva BP, Jimenez-Castellanos E, Martinez-de-Fuentes R, et al. Laypersons' perception of facial and dental asymmetries. Int J Periodontics Restorative Dent 2013:33:e162-171.
- 22. McAvinchey G, Maxim F, Nix B, et al. The perception of facial asymmetry using 3-dimensional simulated images. Angle Orthod 2014;84:957-965.
- 23. Barbosa PBC, de Souza Matos F, Cericato GO, Rosário HD, et al. Perception of laypersons and dentists regarding esthetic facial changes: a systematic review. Bioscience J 2016;32.
- 24. Kuroda S, Sugahara T, Takabatake S, Taketa H, Ando R, Takanoyamamoto T. Influence of anteroposterior mandibular positions on facial attractiveness in Japanese adults. Am J Orthod Dentofac Orthop. 2009;135(1):73–81
- 25. Abu Arqoub S, Al-Khateeb S. Perception of facial profile attractiveness of different antero-posterior and vertical proportions. Eur J Orthodont. 2011;33(1):103-111.

- 26. Talik N, Alshakhs M. Perception of facial profile attractiveness by a Saudi sample. Saudi Dent J.2008;20(1):17-23. Muharib SIB | Volume 3; Issue 2 (2021) | Mapsci-JDOS-3(3)-092| Review article Citation:, Muharib SIB, Alomar RK, Alolaiq RA, Alfadhel AA, Salamah FSB.Indicators and Preferences of Facial Profile and Aesthetic. J Dent Oral Sci. 2021;3(2):1-8. DOI: https://doi.org/10.37191/Mapsci-2582-3736-3(3)-092
- 27. Al Taki A, Guidoum A. Facial profile preferences, self-awareness and perception among groups of people in the United Arab Emirates. J Orthod Sci. 2014;3(2):55.
- 28. Oliveira M, Silveira B, Mattos C, Marquezan M. Facial profile esthetic preferences: perception in two Brazilian states. Dental Press J Orthod. 2015;20(3):88-95.
- 29. Huang P, Cai B, Zhou C, Wang W, Wang X, Gao D et al. Contribution of the mandible position to the facial profile perception of a female facial profile: An eyetracking study. Am J Orthod Dentofacial Orthop. 2019;156(5):641-652.
- 30. Falkensammer F, Loesch A, Krall C, Weiland F, Freudenthaler J. The Impact of Education on the Perception of Facial Profile Aesthetics and Treatment Need. Aesthetic Plast Surg. 2014;38(4):620-631.
- 31. Arroyo H, Olivetti I, Lima L, Jurado J. Clinical evaluation for chin augmentation: literature review and algorithm proposal. Braz J Otorhinolaryngol. 2016;82(5):596-601.
- 32. Naini F, Garagiola U, Wertheim D. Analysing chin prominence concerning the lower lip: The lower lip-chin prominence angle. J Craniomaxillofac Surg. 2019;47(8):1310-1316.

Type your text